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General Instructions :
(i)  All questions are compulsory.

(ii))  Questions number 1 to 10 are of one mark each. The answers to
these questions should not exceed 20 words each.

(iti)) Questions number 11 to 20 are of two marks each. The answers to
these questions should not exceed 40 words each.

(iv)  Questions number 21 to 30 are of four marks each. The answers to
these questions should not exceed 100 words each.

(v)  Questions number 31 to 35 are of six marks each. The answers to
these questions should not exceed 150 words each.

Wﬁ#:
G) @ 597 fard & |
(i) ¥9T & 1 9 10 F TAF YT TE 3F F 8 | IAF J9T F I 20 V<)
7 Y% & g T |

(iii) mmu@zowmmﬁww%mmaﬁmmw
g 3% & T FIRT |

(iv) 597 G&ar 21 § 30 ¥ 59% 597 X 3% # 8 | A% J99 & IN
100 Vi@ @ 3y 78 &A1 TR |

(v) ¥99 T 31 § 35 F IAF I OF 3F FE | TAF I F IN
150 VIt @ 3ife 781 g @ET |
1. = How is 9/11 important in the context of U.S.A. ?
Hgh TST oTde & wed H 9/11 & F Wew € 7

2. In 1992 which regional organisation was formed ?

1992 ¥ f&9 &ffg HeT &1 TeA g A ?

3. “The United Nations was not created to take humanity to the heaven,
but to save it from the hell.” — Dag Hammarskjold.
What is meant by this statement ?

"ﬁgﬁﬂgaﬁmwﬁmﬁﬁ%aﬁ%maﬁ,aﬁgaﬁwﬁwﬁ
Ffaw & &t 17 — 2 3awies |
M FYT 9 F0 A 2 2
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4. What is meant by ‘human security’ ? 1

‘HEE G ¥ a2

5. Define indigenous population. 1
el & afa ST
" 6. Which World Summit Conference was held at Rio in 1992 ? 1

11992 ¥ f& # @ fove fiew g9e ga o4 ?

7. Which party emerged as the second largest party in the 1952 General
Elections ? 1

1952 & 39 A6 ¥ FAEr T TR WH T 7 2

8. In which State did the Indian National Congress face defeat in March
1957 Assembly Elections ? 1

ue 1957 % UM @ gl ¥ qRdg g 0S5 5 9§ gR g O ?

9. Chdose the correct answer.
Indian foreign policy is affected by : 1
(a)  cultural factors
(b)  domestic factors
(¢)  international factors
(d) domestic and international factors
@ W gAY | :
e faew Aifq & Frat | swfaa g 2
(37) WIS FH
@) R I
(H) =T SRS
(R R T F<WET T
10. What is the meaning of Panchsheel ? 1
Teeiie & o 7d § 2

11. Why did the two super-powers try to control the smaller nations during
the Cold War ? _ 2
¥a g5 F WA A FE-vRed SR W W A AT F=& s W@ Swd
5 ?
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12. What is the relevance of the Non-Aligned Movement after the end of
the bipolar world ? ' Z

fyda favs & i & o TefRuy sidem & I wEfiear § 2

13. Who were the target of ‘Operation Enduring Freedom’ launched by the
U.S. as part of the war on terrorism ? 2
g U9 TS 3 B T AhEAE & favs g8 ST teaRn wew @
fremr @9 2 2

14. What is U.N.E.P. ? Mention its any two main functions. 1 +§+é—=£‘
ZEEM (UNEP) 31 8 ? 369% 56 o T&F &9 5 Ieo@ T |
15. Explain the concept of ‘common but differentiated responsibility’. : 2

16. Write the meaning and importance of economic planning in the Indian
context. 1+1=2

qd Hed § s fae & 3 9ur A fafaw |

17. What is meant by ‘one-party dominance’ in the Indian context ~ 2

T Fed F - Th-aed A ¥ o A g 7

18. Mention any two main reasons for the collapse of the Sovietr Union. I+1==

Hifega &9 & fawed & el Q@ W@ FROT @ e ST |

19. What is meant by ‘Shock Therapy’ ? 2
‘Wi RA & T 3G § ?

20. When was India’s New Economic Policy launched ? Who was its chief
architect ? 1+1=2

Wﬁﬂéaﬂ%#\ﬁrwmﬁﬂé?mwm#??

21. What was Bandung Conference ? Describe its outcomes. 2+2=2

FET FHAA T AT 2 THh YRUTHI H G FHi |

22. What steps should be taken to strengthen the U.N.O. ? 4
Y TP-99 & 9366 A & T a1 deq 33M@ I =y ?
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Define globalization. Is it a multi-dimensional concept ? Justify. 2+42=4
SYEIHOT I IRAT ST | T A% UE Sg-STAE SEEROT @ ? 7 W & U
FY | B

Describe the outcomes of States Reorganisation Commission appointed
in 1953. 4

1953 # Tfed TsY [FieA AT & URUMEl & aviH FIET |

Explain the functioning of the Communist Party of India from 1920 to
1950. : 4

1920 ¥ 1950 T% YRAT IS T & SEAYUTA! S AR FHifeT |

What is meant by ‘Privy Purses’ ? Why did Indira Gandhi insist on
abolishing them in 1970 ? ' 2+2=4

Bt o @ wm o 7 2 1970 ¥ 3w W 3% & W & S wedr o ?

Look at the given cartoon and answer the following questions : 1+2+1=4

This
sounds like
joining the Soviet
bloc. Can we say that
we were non-aligned
even after signing this
treaty with the Soviet

(a) The cartoon refers to which treaty ?

(b) How can we say that we were non-aligned even after signing this
treaty with the Soviet Union ?

(¢)  This treaty was signed to counteract which rival forces of India ?

5 PR
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fer T wEA F @ Twr fEffEd T F W AR

(3  FeA ¥ frm dfy F oiR Soa fem T g 2 |
@ Ofogd 99 ¥ §fY F aoNR 97 9 FE S 9 @ 6 g9 el § 2
(@) Fg 9y ura @ A ol wiedl & geEer 5 & fae & W o4 ?

The following question is for Blind Candidates only in lieu of
Q. No. 27.

Frafafaa g97 Fae giedm el & fau gv7 9@ 27 % ©H W § |-

(a) Which treaty was signed between India and Soviet Union in
1971 ?

(b) How can we say that India remained non-aligned even after
signing the above treaty ? :

(¢) The above treaty was signed to counteract which rival forces of
India ? 1+2+1=4

(37) 9RG aur AfeFd €9 & @9 1971 F HE €6 g 2

(@) Wifrd 99 ¥ 9 9 F Ivee off 9Ra B UF R TP S e o
kel & ? :

(@) 39w 9" 9Ra F A G0 ufed & qeeer s & fau @ o4 2




29.

30.
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What lessons can we draw from the feeling of alienation in some parts
of India ? 4

IR ¥ FD AF A G SeMEEd e ¥ e vas 9w wEd § 2

How did the Emergency of 1975 benefit the Indian democratic set-up ? 4
1975 & 3MUase 3 fFH YHR 9Rd & Awdte sEwr §i oamfEad e 2

Study the map given below and answer the following questions : 2+2=4

(1) Identify and match the four states marked @ . : © and @
 with Arunachal Pradesh, Mizoram, Nagaland and Meghalaya.

(ii) Write the capitals of these four states against the names of the
respective states.

NORTH-EASTERN INDIA
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) @, @ @ ME v f@w T AW T A OwEAH TS
w1, fasim, Armetvs 991 B & WY Ad $id gC 9l §ie Ay |
(i) 37 IR T F 9 fA@ W I GHA FEE A qSE-El & AW R
: fafaw |

The following question is for Blind Candidates only in lieu
of Q. No. 30.

frafafas a7 Fae e udanfaa & fou w99 6@ 30 & ©&H W § |

The North-Eastern region of India shares the boundaries with which

two countries ? Mention also the names of the capitals of the
following states of the North-Eastern part of India : 1+1+4x1=4
(a)  Arunachal Pradesh g
(b) Mizoram

() Nagaland

(d) Meghalaya
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31.

32.

33.
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W%ﬁ—@éﬁﬂﬂmﬁﬂa%ﬁ%wwﬁr%?wﬁﬁnﬁm
IW-gdl Tl F TS & AW o fafe -

(3) EUTES oW

@ f=m
(@) AFTevE
(3) TuE

Evaluate the New International Economic Order of 1970s. 6
' OR

Assess India’s role in Non-Aligned Movement.

1970 % TG ¥ 79 AP NIHAIT F TAFA HIC |
Irgan

Uy <o § 9RG # i & SEed S |

Examine the factors responsible for the U.S. hegemony in the world

politics. 6
OR

Analyse the main constraints to the U.S. hegemony in the present
day world.

fova goifa & WO TS OIS & U@ & foU ITWEE FRHI H e
ST |

Agar

IS % favd ¥ ¢ T IS & g9 & WO H A Al qed amsi @
fergetyor &g |

Explain the role of the European Union as a supra-national organ'isation. 6
' OR

What steps should be taken to strengthen the ASEAN in the
international community ?
w SR TR ¥ wY § R 99 F 9 # sren St |
Agdr _
HUPT IeE | NfEH & Svfhel & U &1 #cq 33T FH =T ?
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34. How did the fourth General Elections (1967) in India change the =
dynamics of Indian politics ? 6
OR

Evaluate the role of the ‘Naxalite Movement’ in India.

TG § W9 W gAEl (1967) 7 ARG ToHi @ M F fFE FER agen ?
Agar

G § Teedd SR & e F qedied S |

35. Mention any three social movements of India. Explain their main
objectives. 2+2+2=6

OR
Answer the following questions based upon the following Press Report :

‘Bharatiya Kisan Union wants agriculture out of WT'O purview’

By our Staff Correspondent
Mysore, Feb. 15 |

The Bharatiya Kisan Union has warned of socio-economic
upheavals in the country if India does not bargain to keep agriculture
out of the purview of the World Trade Organisation.

Addressing a press conference here today, the Chief of the
Union, Mahender Singh Tikait and its National Coordinating
Committee Convener, M. Yudhveer Singh warned of impending
dangers if India' goes ahead and agrees to the stipulations of the
WTO in the next round of meetings scheduled to be held in
Hong Kong in November.

Courtesy : The Hindu, February 16, 2005
(a) What is B.KU. ?
(b)  Why is it against the W.T.O. ?

(c) What dangers are anticipated for Indian agriculture from the
W.T.O. ?
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WRA & Rl dF i STieH! # St HIMT | 3 TSF Sevdl @ e
HIT |

Fgar
frfafed 39 RO & 3R | @ T YAl & 3w N

‘e feem gfae o e & s dell. § WY W@ e
FIATT FaIeeTa
4q, 15 waEd

WRdE fea gfee 3 e & @ SR wRa 7 F
UeT & TR ¥ d WA & foqu &0 we§ A8 3o
qEfSe-2Mfie aRoms T & |

qﬁ’&’—r%lﬂﬂ'@, T e oo ot 93 T weas wfafa % gan
. gk fe 7 A9 9@ TE 39 wEed § I % OSPR 9Ra favd @R
T & FEG-FHA I HE M & A Ae IUF AT WA g | fava =R
T F Tl dI% TR H T & F Al |
YR : T g, 16 @&, 2005
() dFg FE ?
@) 7% fve =R §eA % e #7@ ? 2

(W) T=gsl ¥ 9NGE Y B T @A & GEa g 2

F favg =R
W W T
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